TAMIL NADU TEACHER ELIGIBILITY TEST (TNTET) - 2012

TNTET wrfl efssrmggmer / TNTET Model Question Paper
gmrer — I Paper - I

INSTRUCTIONS FOR CANDIDATES:

1. The Test Paper contains a Booklet of Questions and an OMR Answer
Sheet. When you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue/black ball point
pen only.

2. The test is of one and half hours duration and consists of 150 questions.
There is no negative marking.

3. Use Blue / Black Ball Point Pen only for writing particulars on this page /
marking responses in the Answer Sheet.

4. The CODE for this Booklet is B. Make sure that the CODE printed on Side-
2 of the Answer Sheet is the same as that on this booklet. Also ensure that
your Test Booklet No. and Answer Sheet No. are the same. In case of
discrepancy, the candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the Answer Sheet.

5. This Test Booklet has five Parts, I, I, Ill, IV and V, consisting of 150
Objective Type Questions, each carrying 1 mark:

Part I: Child Development and Pedagogy (Q. 1 to Q. 30)

Part II: Language | - (Tamil/Telugu/Malayalam/Kannada/Urdu) (Q. 31 to Q. 60)

Part Ill: Language IlI-(English) (Q.61t0Q.90)

Part IV: Mathematics (Q. 91 to Q. 120)

Part V: Environmental Studies (Q. 121 to Q. 150)

6. Candidates have to choose any ONE language under Part Il Language | in
accordance with their Language | studied in their Degree. In such case the
candidates have to ask for the Question Booklet containing the languages
other than Tamil.  The languages being answered must tally with the

languages opted for in your Application Form.

7. Rough work should be done only in the space provided in the Test Booklet
for the same.

9. The answers are to be recorded on the OMR Answer Sheet only. Mark your
responses carefully. No whitener is allowed for changing answers.



GYBms CLLTEL SHLUISSH (DS EHLD
Child Development and Pedagogy

2 L 60 euemi&d] Gougsoms memL GUmILD Li(heuLD 618 ?
A GnmoLluman B dAstumad C @uriugmenn D ustefliugmetd

In which stage is the Physical growth is rapid
A Early childhood B Infancy C Adolescence D School age

suaTi&d) ammiGlomesr gjeme|sE JSlewors LMl sriduilsd srégntuns)
THUBSDS)

A Getersgememn B Sfligefllsn  C gemgmremT o L6 auari&d

D (6T SUSEIS SLpeme

Excessive secretion of Growth Hormone by the Pituitary Gland
leads to
A Dwarfism B Cretinism C Gigantism D Goitre

Gyhmswlsr ssnEIT 2 e sE wSliuaflésEn Curg) srGer C&TLkiGLD
St euwgled erpublEmg)

A 2-3 gyemor(H\&sT B s g C 6 gyeor(h (psev
D 4-6 g sor(hser

The Stage in which the “Self Initiative Skill” of a child develops
when it is let free
A 2-3 years B Firstyear C 6thyear onwards D 4-6 years

SwrGeguiletr “sp(meu(memLIL idleyami eTesTm ClEFmey SLSS6HITL 6p63T6MM
GM&s LweTLUHSSILG NG
A 2 (mous flemev B svdur C GewedlLid D &Skoamsd

The term used by Piaget to refer “one’s cognitive structure”
A Iconic B Schema C Action Schema D Egocentric

stifl&&euflsor snmmILiLig Loesflgeuflsor seps Camium(h &g emen Hameusemers
G&meor(heTers) ?
A 6 flemev B 4 flemeo C 10 rflemsv D 8 flemev

How many stages are there in psycho-social growth of man
according to Erickson?
A 6 Stages B 4 Stages C 10 Stages D 8 Stages

selaTeiFs 9l 2 Ha|b &med
A Lr&dlevLmnGasml B GLesvGstl C  &mme o sl g6
D eouwsL s GaTgement



9.

An apparatus to find the span of visual attention is
A Tachitoscope B Telescope C Learning Cards
D Ink Blot Test

(meuler o) EmemLg CaHTaTTNIS(EHEE IlILMLILTE I|6mLaIg)
A  waTapEs) ySiagsT B e o smrisflest  C o wemndlp&dlser
D LemeuLd

One’s personality disorder is based on
A Emotional shocks B  Simple feelings
C Emotional enjoyment D  Mental health

WSS auami&Semu L) Sl 2 srailued 9mlEhT
A w&@Bs60 B onisorenl &  C  LIT6M6V6 D 1wrGey

The psychologist who defined moral development
A McDougall B Thorndike C Pavlov D Piaget

mistoTenoTle] @\ SmysmllsHemTed o) 6oTS) 6T60T Sn il 2 aTefliied jnflehi
1) e wirGlossr 2) Qleudeneor 3) wrGey 4) YGeor

The two factor theory of intelligence was proposed by
A Spearman B Wechsler C Piaget D Binet

10. mlevoT6mOTI6Y FF6Y] 6TGOTLIG

1.

Leoreug (MA)

A B = & suiLg) (CA) x 100
C mF = Z?ﬁfj(ﬁg x 100
D mF = mz;fif;%gm x 100

Intelligent Quotient is

Mental age (MA)

A IQ = Chronological age (CA) x100
B 10 -= Chronological age (CA)
Mental age (MA)

_ _ Chronological age (CA)
c Mental age (MA) x100

_ _ Developmental age (DA)
D 1Q Chronological age (CA) x100
Unm&@ 2-Sail GIFILLD L6TLILIT6ITEmLImILI 6T6OTEVITLD
A oifl Fixgemeor B &l fhgemer C @6 Flwid
D @aldhgmer



12.

13.

14.

15.

gow»

ogow»

16.

17.

The attitude of helping others is called

A Divergent Thinking B  Generosity

C Ideals D  Convergent Thinking
&ML eUemSS6Tle0 QUTHHSTS 66T

A eumiGlomfls snmeo B Qs smme

C [enemrsgs snme D [@emeu eTgId @evemev
The term that does not coincide with the styles of learning

A Oral learning B  Continuous learning
C Comparitive learning D  None of these

GYHMSIL GUHMSILITS &(hS ColeoT(hid 6TeoTn)| &n et
A emGer B Geussvsurt C UGsor D &n&Ger

“Child should be treated as child” - was said by
A Roussoue B Wechsler C Binet D Gagne

SE0T60{ | FENEFILTS 6T(LYLD GIVBISHEMEE SMHS I SSHMUILNISSE SHM6
Gamgememuiley sudleareori LILGTLI(HISSIL 6560k
A GG B srell C [mmil D upwr

The animal used for the experiment on operant conditioning by
skinner is

A Monkey B Rat C Dog D Pigeon
@eunmier GuTmSsLomen GeomipemiL &)

Gasmeort — 2 I & epeuld SMHMeV

sudletreotii —  SMHM6L el

LIT6L6V6Y — SE0T6O{ IFENSIITS 6T(LPLD GIVBISGEMEVE STTTHS & SHIHIEMEVILINISHS6)

STTEOTHL&— &8 HleneuiLnIs &6

Which one of the following pair is correct

Kohler - Insight learning

Skinner — Law of learning

Pavlov — Operant or Emitted responses
Thorndike —  Operant conditioning

@eunMlev F&semerr GLITGIME &(HS5S)
A sgimb B w&Gsmeon C  FHAw B finsgrsieor. D eulLid

Which one of the following is an example for complex concept

A Square B Rectangle C Small Blue Coloured cube
D Circle

@emausafled 678 SNMOISHES) 2 SH6UTS STewnf]

A sefliu’ L smyesf] B 2 6mbd &nming Smiyeusf]

C &eps sref] D @meal g @lsisme



18.

19.

20.

21.

22.

23.

Which one of the following is not related to learning factor

A Personal factor B  Phychological factor
C Social factor D  None of these
Guomflullevevr Gamaement UmS CETHEmeETemILE FT(THLD

A 95868 Shgmen B metmemriley

C seflsseimemio D ayEheming Smeir

Non verbal test is related to
A Creativity B Intelligence C Individuality D Personality

SiDEUSTT SHDE TGO VOS]
A Nir&dlemens Siige0 B Q&g snme
C Gawedl L (psmm D  weriurLib Qaileigse

Which of the following approach is not related to cognitive
learning

A Problem solving B  Learning by doing
C Project Method D Rote Memory

GYHMSSEHSETE “sHEL 2 Moo smiu &5, semu UGLTYS)
dirsLeriLbh &SI

A 1969 meubuir 10 B 1979 p&iour 20

C 1959 mauburi 20 D 1949 igs&iur 10

When did the UNO proclaimed “The right to learn” for children
A 1969 November 10 B 1979 December 20

C 1959 November 20 D 1949 December 10

siemsnLS&ler LU alld) erg6r (PEHILSSIaSmS NS snnflng)
A grawhiGasrer B wmily Gl&iigen C ufl& D &e6vorL sment

Thondikes Law of learning insists on
A Stimulus B Repetition C Prize D Punishment

Smmedlerr (&L smreunf] speoTn)
A 55650550 B [HTLLLD C osoelldsn D soigd

One of the Important Learning Factor is
A Retention B Attitude C Attention D Attraction

Gu@mT 6T HLog) Hlemerailsy @)mLILIEmE

A LUg5g SHMEV B Gsl(s snme

C  usbLsuetr aILlSSHMED D uMi&g& SnHmey

Long term memory is through

A Learning by Reading B Learning by Listening

C Learning by multi sensory D Learning by visualizing
organs



24.

25.

26.

27.

28.

29.

30.

SMHMEOl6T Z(6HL6)
A Slmetr B gy C uwerlumsmmn D @lmel 9merssgin

The Achievement of Learning is
A Skill B Knowledge C Attitude D  All of these

L &6m& GSHTLLITL g 60T 9jlgLILI6HL
A oley B GOgefly C  grewe-geomsn D o L smd

The principle of behaviourism is

A Knowledge B Clarity C Stimulus-response D Insight

grnaif] psuTssrnley ey

A 90-109 B 70-79 C 110-119 D 140-169
Average Intelligence Quotient is

A 90-109 B 70-79 C 110-119 D 140-169
BwrGegulstr CamLm® GLphens saflsor

A 2 emeflwe FElwumenr aueTige] B  werGauwéd upiusg

C gley eueri&d) upmiLg) D 2L euemi&dl umnug

Piaget’s principle is related to child’s
A Psychological Development B  Emotional feelings

C Cognitive Development D  Physical Development
R GYhoguilsi (e it

A (st gymiou LeTerfl oy Sfluwr B Symou vsmerf] gy Sl

C QupGmm D &psld

The first teacher of a child is
A Pre Primary School teacher B Primary School Teacher

C Parents D Society

B &&TSITeT b emenT 6TeITLIS

A &6 Fpgemer B aflifl s emenr

C &8s TanTeT Shgemeor D  gUmige

Logical thinking is

A Convergent thinking B  Divergent thinking
C Creative thinking D  Exploring
‘Blemesraummmed” eTeaTm MITedlear (LpSev Lrdlemu Gleusfludl L eurt

A eilmsen B egmeor (Buf

C &swevorl Nymii(h D  eilevedlud Genidsiv

The first edition of the book on ‘Memory’ was published by
A Enbinghaus B  John Dewey
C Sigmond Freud D William James



ii. Language I — siilp — Tamil

31. ‘wrgd earGr wraumd Caafli’ — @IILm_ e aufl @)L GLMHMIsTT K76
A uflurLed B uymmTamm C npoflemeeer D m@GMIBIDI

32. S Emefled 2 6rer gSHsmrmisefler sTevoremnflsma
A 130 B 163 CcC 133 D 70

33. g QameuGeur, Ggm Gy @)\melummerubiomm) LT(Hige
A wosh B G C gmsrdl D @rlGn6urfse

34. KBS SHeneors @Il Hlsvid
A LD6m6L B &Le& C 6uwed D &

35. ‘Gam + @160’ 6TEITLIG) 6T6LEUTM)] L|6TOT (LD
A Gsmils B Gamulilsdlsy C Gamgls D Gsmale

36. ‘oar(mid GL(HLD’ sTeoTERID HTEOl6oT gy SIflwir
A gmUl. Gaginierener B a.GeuLs. sowim
C &m.ai.s. D eu.&L. Lrenfl&sin

37. ‘Sleom’ etearm &6y 2_6uwTI HGILD GLIT(HET
A Sleor B eaflw C womssed D eulfl

38. ‘uetll G&Miigllg)’ — @)&) 6Tel6mS; LOTL]
A Gurgiomy B GQuuiwry C  eedlwry D eilener wyy

39. sLilflsb CamermliL (LpS6 EHTealeD
A swembumsT Fifl&SiTn B  usmeud &g
C etear &GS D  Ursmu waeShumt sflgslrn

40. ‘GYnhmss sallehi eTaTmemLsaLILhiLeuT
A urgghwumt B 9. susmaflwiinm
C  [BT&S6060MT D euremflgrasr

&(psar uSSHemL LipSg) eflerm 11 (pg6v 13 euenr allenLweflss

Sm.a0.5., (oL @meurmd sl o mrmeL susmiESulled Gumwearalngs st
unilemerrs  Oeaisdlerarert. umrdlemwll Slerunmle ‘SeaflehT 6T 6D’ 66T
Gameordl 20910 pIOWIET(hHS SUlDES SelmesEl USHWCSTT 9| &H6S5mSILLD
sTWESemD  NUGHSSmsSLICUTED, Sm.eil.e.meit  etunml  6TLpsGaustaT(Hid
6TEITERID 2 Hh&ISN Sl 2 IHL &G USWGCHTT gummeme cuphiSliug). Hm.a.6.,
sMllpw Smsuin moLCUTLGHS sUlp 2 armoLsGl Qurele GCarssamsT
(SETEOLOILITETEIT (Lp.6L. ST



41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51

52.

53.

gLl 2 emrmenL aueTi &S &G GumuRSTHMNIL SLOLpMlEsT
A umeurssori B Slm.eils.  C Gegllatemer D LoemMLOEMAVLLILG S6T

‘&6l@piT LoevarL6uld” WwimemrLl LerLmg Camerplug)

A wsrseai uryd B  &Ssmamsuryd

C Gamoaingyumyd D  slSiyweseflu feur
&\m.0.8.00l67 uflufled 2 smrmenL &@LU GLmedle| Cargg ot

A 9555 alhisi B &.U. 9meumeuoTer

C amQs. GyhmssaLi D (p.6u.

‘6T &6 eLpeur Lo(HhgI — @lsueululled ‘epeur” eTeorm Glamey 2 6uoTii &&GID
@um(mer

A [@leTemio B wgemn C Gummsnw D  Gugmemo
‘siaUSMTETemen’ 6T6aTm 6L SIS E) @lemeTiLimsar SLOLE6lETsn

A UTL&Tene60 B  seogrifl

C UOSMEVSSHLSHLD D HsiflemaliLesmassLpst
Qumrp@smseurr ‘GLimeaTeneoT’ 6T6OT)| (G MIILIT

A urfl B un C gmfleeer D Gaeey

B 600T600T60T 6UBSEI — @)1 6TELUAIENS 6(LY
A umed e B @QLeagy C dmemeayy D &6 el

SITL|LOTEBTEUT EUTLDHS et
A Gerymgmt B oeampui C Smuomnsst D diamfl

“su6iTEmeusmenTL GLMMSTEL GUDMES LsLp snauLs6EL” — ey Lmip s
A umdumr B eumemflgnger C  umpdangsr D SLUSTE6T

OIS S61T 6TEHSH6EM6I 6LMSLILIHILD 6T6IT)| HEITEWT6) S MIFIME| ?
A gm B gy C udGlermsrm) D &6Tug)

‘LOGTITIRITEL” 6T6OTM) DS SLILI(HIES)

A Seoliudlsmrd B Fausdpgmoemf
C uwenllGLsemen D @ atsd
F5HI &(mL&sTameveniLl Hlmiedieur

A QM HraeIT B seul(® guuwm

C &lmewpeort D @nrmoelns 9 s6r
SLOPETL L9 68T ‘(LPpSHe0 Teemeusd sallEp

A S6T0T600T SITE 60T B HTL&S60 &6llEhIT

C yevemwolnSl&aesr D 2 _alenLod SellEh HIT&T



54. “LMSIEMISE I|meTeumll — meoTblsorehGa
LI6m&6LI60)IE(S) I|(THETEULL” 6T6aTM)| LITLpLLINT

A @nmoedinis ojleseT B urGeub st
C unrell&sarast D Uy
55. oihems
A &5 B 9emid C g&ab D &eb
56. ‘iflahisn’ srearudled ‘SHifl’ erearm Glamed 2 smari&GID WHHSIL GummeTseflsr
giflwmeer euflemaemiug Caimb6ls 0
A en@E, 58, S0l B &5, g, Hilledl
C &5, S, Lher@ D &6, &5, e

57. ‘sUilfle) a6 SgIssT GrgsLn
A 12 B 18 C 30 D 247

58. ‘Limemey LIMgW eumuTed 6p(h Casmemeu LIM(pa” — wim wimflLb GasLLmit

A SauGugpLomest ULl Lb B dleuGugmumer snhsriflid
C HeuGmLomsar D &leuGugmLomer sblomhsifl L
Lomssefl& s eumgssifliLLb

59. siflflsb 2011-9y b gy emoTeM&TeT ‘FTHSWYSTOSH ailmgIGLDMeaT
A Uguerssr B & GouiisGLassr  C  Gueomemoremn D mmEhaleummLeor
GumstregemAl

60. mrem&s SigsT GLTSELD
A 2 B 8 C 4 D 16

iii. Language II - gymidlsd — English

Choose the correct word to fill in the blank in the sentence

61. He met European in Mahabalipuram last week
A a B the C an D any

61. What is the time your watch?
A in B by C at D on

63. When I reached the station, the train already.

A went B had left C has beenleft D has left



64. In the formal letter the ‘subscription’ is

A Yours sincerely, B yours sincerely,
C Your’s Sincerely, D Yours Sincerely,

65. We use between the clauses

A fullstop B colon C comma D semi colon

66. A quick gathering of information from the text is known as

A skimming B scanning C reading D browsing

67. The letter T’ is pronounced when followed by a

A diphthong B vowel C consonant D semi-vowel

68. Choose the right tag
She never tells lies, ?

A doshe? B don’t she? C does she? D doesn’t she?

69. Find the correct spelling: - identify the word

A occurrence B ocurence C occurrance D occuranse

70. The Headmaster organized a tour to Ooty. Identify the pattern of
this sentence.
A SVO B SVC C SVOA D SVIODO

71. The play ‘Merchant of Venice’ is written by
A William Wordsworth B Rabindranath Tagore
C T.S. Elliot D William Shakespeare

Choose the correct meaning for the given idom:
72. He was an old hand at the work
A experienced person B he had an old hand

C old man’s hand D in-active person

10



Fill in the blanks choosing the correct word

73. The cry of a duck is ‘quack’. The cry of a frog is

A growl B grunt C scream D croak

74. The movement of the eye is called regression

A forward B sideward C backward D saccadic

75. ‘Writing of Informal letter’ is introduced in class

A five B six C four D three

76. They living here since 1999
A havebeen B hasbeen C are being D have being

7'7. The main verbs take forms / inflections

A eight B five C three D four

78-81 In the following passage there are blanks which have been
numbered from 78-81

Against each number a choice of four words marked A, B, C, D
is given, one of which fits the blank appropriately. Choose the correct
answer.

One of the hardest skills in a foreign language 78 telling an
interesting story or anecdote. Learner of English often feel left out
when socialising 79 groups of native speakers and everyone else is
80 stories except them. It is a good skill to learn. Everyone likes to
listen to stories and a good storyteller quickly becomes the centre of
any group. And talking about your experience is one of the 81 ways to

build up a relationship with someone.

78. A are B is C was D were

79. A with B on C in D over

11



80.

81.

82. China is more thickly populated than India. Choose the positive

A tell B tells C reading D telling

A Dbetter B good C best D most

degree for the given statement.

83.

84.

85.

86.

India is as thickly populated as China
India is more thickly populated than China
India is so thickly populated as China

g o w »

India is not so thickly populated as China

They will miss the train unless they hurry. (Rewrite using ‘if))
A If they will hurry they will miss the train.
B If they will not hurry they will miss the train.
C If they do not hurry they will miss the train.
D If they hurry, they miss the train.

ABL method helps the learners to

memorize English structures

be playful during the class
depend on the teacher all the time
learn with freedom

ogow»

‘Each’is a pronoun

A distributive B indefinite C demonstrative D relative

Sounds that do not produce vibration of vocal chords are called

87.

88.

A approximants B voiceless sounds
C voiced sounds D the plosives

A supplementary reader is meant for
A Intensive reading B Extensive reading

C Global comprehension D Local comprehension

The diminutive from of root is ‘rootlet’. The diminutive form of
goose is
A gosling B gooseling C gooselet D goosenet

12



89. Correct word for the phonetic transcription / b3:d / is

A bird B birdie C bard

D beard

90. Complete the sentence by choosing an appropriate word.

Old people sometimes feel that young people don’t

them or pay them enough respect.

A valuables B  valued C values D value
iv. semflgld — Mathematics
91. 66/2—12+(14x2)/7 + 3% 6ir &y
A 32 B 30 C 34 D 42
The value of 66/2 - 12 + (14 x2) / 7 + 32 is.
A 32 B 30 CcC 34 D 42
92. SupsserL Ulsrermiseafle Lsg g 61g) ?
A 24/25 B 63/78 C 69/72 D 52/57
Which of the fraction is least?
A 24/25 B 63/78 C 69/72 D 52/57
93. 7 x 8 2 L 6tT 6TM&HE Gn L lg6wTed 7 X 9 v SH(GLh.
A 1 B 7 C 56 D 63
What must be added to 7 x 8 to get 7 x 9?
A 1 B 7 C 56 D 63
94. umL& GMILlenetr alpelEBLOLILIGUIT
A savaSlumarisser B gewsvsoLownrIflur
C wum g8l 1 & Gupaisori D  au&GLrfinser
Lesson Plan is designed by
A Educational Experts B Headmasters
C Syllabus committee D Class teachers

13



95. a=2,b = 3 eefle, (a + b)2 — (a2 — b2) sretrm CaHmemeuuiledr LI
A 30 B 20 C 24 D 12

If a =2 and b = 3 then the value of the expression (a + b)2 — (a2 — b?)
is
A 30 B 20 C 24 D 12

96. x +5=y+7, X,y €W eT601) FLOGTLITL lpM&T6aT Sirexg6iflear 6Tev01600f 185 6m85.
A 5 B 2 C 3 D >3

The Number of possible solutions for the equation x + S=y + 7, x,

y ew are.
A 5 B 2 Cc 3 D >3

97.69( 6uL_L SS6tT QYTLD @)(HLOL_MBISTEITT6V, LITUILISTE 6T5S6M60T oLl ISISifl& @ LD.
A 2 B 3 C 4 D 1
When the radius of a circle is doubled the area is increased by
times.

A 2 B 3 C 4 D 1

98.uELILEmMUNED 2_6T6T IEMETSHEIS SYHEDSSHEHL & (L&&6Tl Gawsu () shmis

@&meTEmLD (Pemm
A LBICSHED (Lpemm B aflglais qpemm
C aflglnflarse (pemm D 2 sirenLn 560 EHLISS60 (Lpenm

All the children in the class are engaged in groups and learnt
concepts. This method of learning is called.
A Participatory Method B Inductive Method
C Deductive Method D Simulation Method

99. gjen1T UL ST emLoils Casmevorio
A 90° B 2700 C 1800 D 3600

The central angle of semi-circle is
A 909 B 2700 C 180° D 360°

100.Glemiumig 6t ellGlampsmmuisy epsTmmid Lighlsmey gy 6T s)
A pullGlsmn, ameiuGgsans B T068I% & ps6
C Glrwsublsss6a D Glursy afls) sirsmse)

The third step in Herbart inductive method of teaching is

A Comparison and classification B Presentation
C Application D Generalization

14



101.eu@Luemmuilsy semfls o &ifwflsr e s LstefliumsTs)
A  &BBE5I55m0E SHISE60 B 2 SIysouTsIsmeTs &(5E560
C  gGTaTyTS LTsooTsuIfleoT SMmmeYIss & GisnsoorLiflse
D @liysemars . ms6

The important role of a mathematics teacher in a class is
A Teaching the concept B Giving examples
C Acting as facilitator and helps the children to learn the Concept
D Dictating notes

102.819.8MM710 8 wentflemiug ST HIGUTE! (L &ER&SemL Gl aTar Gamemrin.

A enrGsrarnd B elflGeramn C OsmGsramn D Cri&sGsmsmrio

If a clock shows 8 O’clock, then the angle between the two hands
is

A Acute angle B Obtuse angle

C Right angle D Straight angle

103. wTs eu@mHLOTeTD 525,000/ Gumid mHUF. seuGlauT LTS er,.2000/—
CaLilsEmm steofled gjeumemLIL LTS CaillIL FHaIH0 sTeuasTa] ?

A 10% B 12% C 15% D 8%

A Person saves Rs.2000/- in this monthly income of Rs.25000/-.
What is the percentage of his saving is
A 10% B 12% C 15% D 8%

104. e, &8IT auigau L misTallng Cousdl 9|emnés e UL (56 eb.4/— afsL
em;.1600/— Gavaurdlmg) steoflsb Lymuigsmallsor LLiLsTe
A 10000 1f? B 1000 5 C 1000005 D 4005

The fencing charges of square shaped park is Rs.1600/- at the
rate of Rs.4/- per metre. The area of the park is
A 10000 m2 B 1000 m?2 C 100000 m2 D 400 m?

105. QaTRSSILC L &gITSSHeT uriusta 100 6% sTesfled HipsSL i’ L LGSufssr
Ly

A 155 152 B 12552 C 10.5 52 D 135152

15



If the area of the given square is 100 m?2 then area of the shaded
portion is

A 15.5 m? B 12.5m? C 10.5m? D 13.5m?
106. 61, oo euL L Slear &mmeme| 36 Glg.L8. gser el L 1d (Gl&Li—ev)
A7 B 35 C 22 D 14

The perimeter of a semicircle is 36 cms. Its diameter (in cms) is
A7 B 35 C 22 D 14

107.8Cy QarhissUu’ (srer Ll emLullsy 2/5 Lk Hlpedll Geusior(hid sTeoT mEheFeorT
Cal(hs OamsTeriLlLmsT. 9o msartal 2 uGdsemer Hlpsdl (HleTarmei.
GLogyid T&S M LGSS6T S (hiGeums Hlpedl it Geussar (bl ?

A O B 2 C 3 D 5

Ranjana was asked to shade 2/5 of the strip as shown below.
She has already shaded 2 parts. How many more parts does she
need to shade?

108. gy’ LT TSI USSELD

A efereudl B eumememevdlnn C - gymwsmavglim D UimbGomsin
ASSMbHL

The book written by Aryabatta is
A Leelavathi B Aryasashtra C Astronomy D Brahmosphuta

Siddhantam
109. 33611 33 515D
A 10.99 B 10.79 C 10.89 D 10.69
33% of 33 is
A 10.99 B 10.79 C 10.89 D 10.69
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110. pmpeilLLb em.18/— 2_6Targ). 9|0 5 emLITL LOMHMID 2 eIHLITILI HTEUOTLLRISET
LLBHGL  @mEser refld  geueflLld @@mBS 2 emumil HTesrUbhIsefleor
6T6t0T 60011 S6M 8>

A 3 B 4 C 5 D 6

Ramu has a few 5 rupees and 2 rupees coins. The total value is

Rs.18/-. The number of two rupees coins that Ramu has
A 3 B 4 C 5 D 6

M. @, gjemmullear Herid 30 L MM gy&6vid 20 L sTesfled @b jemmeniu ML
20 &8, uriueTe|s Q&TeTL T&H&menT SemHEITLLlgsT CaHmeuliLibhid ?
A 20 B 10 C 50 D 30

The length and breadth of a room is 30 m and 20 m respectively.
How many tiles of 20 m? area are required for that room?
A 20 B 10 C 50 D 30

12. 9|H550\S8! UL TCSHEID eLpsiTm (PSSl sn(hiSeb 45, eTerflsd I|hs
PPSS6T
A 12,13,14 B 13,15,17 C 14,15,16 D 15,16, 17

The sum of any 3 consecutive integers is 45. Then the integers are
A 12,13,14 B 13,15,17 C 14,15,16 D 15,16, 17

113. 0.2727....... +0.7373. . . . 67 &l

A 1.0101... B 1.01 C 1.000... D 1.0202...
The value of 0.2727 .. ... + 0.7373. . ... is
A 1.0101... B 1.01 C 1.000... D 1.0202...

114. e(w eTevoreunfledr 5 LOLMiGL 6T 5 8 en L L SlevLLILg) 55 sTevfleb, 9j6rGleuenoT

A 1 B 30 C 65 D 10
If 5 is added to 5 times of a number, which results 55 then the
number is
A 11 B 30 C 65 D 10
115. L 3 LmmILd € = 8 srenfllsd ath 60T LOGILILY
a b b+c

A & B i C g D 2

27 27 27 27
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Ifé = 3 and £= 8 then the value of atb is
a b b+c
A & B i C 2 D 2
27 27 27 27
116. x |3 |5 |7 |9 |10

y |6 15 |28 |45 |60

GLoGev 2_6iTarr ASEUTTRIGET 6TELIRIEME LOTM6Jl6D 2 6iTerTeaT ?
A Griwmmed B erdiommeyy C  sl(omms) D @lmeu sgiLhlsvemen

x |3 5 |7 |9 10
y |6 15 |28 |45 |60

The proportion of the above set of values is
A Direct B Inverse C Mixed D None

17. Cam_(h& Si6tT(h&(G) 6TSHSHEM6T LIS GHSSS CHT(h&6T 2_6uor(h ?

A1 B 2 C oeeoremorpm D 3

How many perpendicular bisectors are there for a line segment?
A 1 B 2 C Countless D 3

118.7, 9, 12, 8, 9, 15 e16ttm elleunmus @pssmer sqrsifl, @i flemev Hmih (p&LTaTS).
A 8,9,9 B 9,9,9 C 9,9,8 D 9,89

The mean, median, mode of 3, 7, 9, 12, 8, 9, 15 is
A 8,9,9 B 9,9,9 C 9,9,8 D 98,9

119. 20 @lwiev sTetoTS6ITl60T OIF &
A 18 B 20 C 19 D 21

Range of first 20 natural numbers is
A 18 B 20 Cc 19 D 21

120. semllss580 fnhgl aflemis CameailiLibhioalg.
A MBS LHNID Si&s FHUl SersdlemnsT 2 (HaTs @S0
B &ausslhiselin Carmbaalnma allemmhi@ass
C tgH5Smisemer LerlumLLd Cl&iige
D &iasemer [Hemeare| & mige

To be good in mathematics, one need to.
A create & formulate problems through abstract thinking and
logical reasoning
have mastery over calculations
memorizing formulas
remember solutions

oaow
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iv.b  egpfeeouiue — Environmental Studies

121. SpssersunmieT 618 speflim Glum(meir
A shdlyer B ¢syiflweor C  eflevorLisor D eumELg&SITLD

Which one is non luminous
A moon B sun C star D comet

122. S1p& a6t eummIST 6ThS eeaTley epeflmsorgy) Goussioms Glsugyin
A SLiQurmst B smmm C 1B D Geumpfib

In which one of the following sound travels fast
A solid B air C water D vacuum

123. S1p& a6t euMleh 678 STVSSH6T GI6mETaTLl LIGHTLOL Mhi(S)
A HuflLid B  wefl C Syemor(h D isvsdlafmmig

Which one is the submultiples of time
A minute B hour C year D milli second

124. st s606078561fl60 IL,Mmeb LhleTerTmmeuTs: THmILGSMS)
A teflugybmd B Geuiu guped  C Guisdly oyipmed D Goudl gymmed
A battery or cell converts energy into electrical
energy
A solar B heat C mechanical D chemical
125. UrgmiseT Wwefls 2 L aisE) I|efl& SHleaTmenr
A ommed B eueri&d
C 2L 60lwe Gl&wevssT D oLe Gaiusms
Protein supplies to human beings
A energy B growth

C physiological activities D body temperature
126. Gl&6060l6tT SLMMED EMLOIIGIGET 6T60TN) |6MPSSLILIBIRIS)

A  aGaTGamd B Gamums 2 milissr
C MNGurGamb&er D eowl GLm&megorL_flwim

Which is called powerhouse of the cell?
A lysosome B Golgi bodies C Ribosomes D mitochondria

127. werflg @swid srraflurs s HHILSSNE TEHSme (Lpeom SllgSSHME) ?
A 93 B 48 Cc 72 D 65
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What is the rate of heart beat per minute in human being?

A 93 B 48 Cc 72 D 65
128. ymeuLen eTerm GsmmUTL (B Gyl &someileTsd
TOLGEDS)

A ursth B emeuLifler A C  emeulLiflear C D oGwmgedr

Marasmus is a disease caused due to lack of
A Protein B Vitamin A C Vitamin C D Iodine

129. Geurfleb 2_surey GCaLASEGLD SToUTLD
A Hirlens B o @memstsSpnig C  leml D gyudler

The plant that stores food in its roots
A Grape B Potato C Beet root D Apple

130. wevrflesr 2_611 Y (H&E
A yedlen'tld B geslen s C LSIHESSSTET D (FHsLD

Which is the inner most part of the flower?
A Calyx B Corolla C Androcium D gynecium

131. oL (hevoremf] Smeurid
A &memmeor B seu@LLm C Qmiustsen D gyjeueor

Parasitic plant
A mushroom B cuscutta C Nepanthes D Beans

132. ST &s6m1T 6T6TLIG) 6(TF 66D
A yrs B smiGuremen Gr_ C Gsmipiy D 1B

Sugar is form of
A Protein B Carbohydrate C Fat D Water

133. sTmleVI6TeT 6L TE06IT 66|
A 20.95% B 30.02% C 78.08% D 70.08%

The Composition of Nitrogen in air is
A 20.95% B 30.02% C 78.08% D 70.08%

134. ugemL [@l6u6v 6L
A Co B Co2 C So2 D No2

Green house gas
A Co B Coz2 C So2 D No2

135. gmeuor eTifleurmiy
A 5&CHe0T Lommid &G 60T B yGrmiGuesr ommid 1wy GLesr
C yGrpmiGussr wpmid B5Eser D 1wy GLeor Lommid LiSGs 60T
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Gobar gas contains
A Methane and Ethane B  Propane and Butane
C Propane and Methane D  Butane and Methane

136. SLALPHTL Lo nI6TeT QILOMES LOTaL L HIG6IT
A 29 B 30 C 3t D 32

Total no of districts in Tamil Nadu

A 29 B 30 C 3t D 32
137. sUAETL 1960 GlEhe] Lo6VIT 6THIE) LoauT&ma) ?

A upesfl emev B Beudlfl wemev

C @a&msu6dl wemev D Gameurmuesr Lemey

Where does Kurinji flowers blossom in Tamil Nadu?
A Palani Hills B Nilgiri Hills
C Kolli Hills D Servarayon Hills

138. SLOPHTL 1 68T &L GeomTy LomeuL L ris6r
LgISGsT_emL, SLeT, Gaeuld
IET&LILIL g 63TLD, LOGI6DIT, SLYITIT
SLQITIT, LgISGHTL_6mL, [HTSHLILIL Lo 60TLD
SeMiT, SLITT, LGS0 smL

gow»

The coastal districts of Tamil Nadu

A Pudukkottai, Cuddalore, Salem

B Nagapattinam, Madurai, Cuddalore

C Cuddalore, Pudukkottai, Nagapattinam
D Karur, Cuddalore, Pudukkottai

139. GuamauwraileTr &emeLSTLD
A efleveorri B  wewoflir C dleoyr D ubpsit

The capital of Meghalaya
A Shillong B Manipur C Dispur D Srinagar

140. ‘LmbLeET” LITEULD O|6MLOGGI6TET LOTaL L LD
A Wgleor B @rmonrsyrn C dlausmms D UsSGsTemL

The Pamban Bridge’ is located in the district
A Madurai B Ramanathapuram C Sivagangai D Pudukkottai

141. @rdwreler asLGLfiu gjememors sl (h
A afiirgl B usrm—pmse  C  peeme—Gufium D sréursi

The largest dam in India
A Hirakud B Bhakra Nangal C Mullai- Periyar D Damodar
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142. 80 5 S60T(G6TLD LIMEMEUSET SFIT6UaTTEVLLILD S{6MLOGGI6T6IT LOT6UL L LD
A searaflurgufl B SnomoGas) C mrsluligerd D srHsisGle

Koonthankulam Bird sanctuary is situated in the district
A Kanyakumari B Tirunelveli C Nagapattinam D Tuticorin

143. @idwrellsr Cgeru@emi 2 meursdlierer L Ll

A wmsmeuls i Lh B Gem_m préu,m Sl

C s&smeuorll Ly D &ipI_ssT Ly

The plateau that forms the southern part of India

A Malwa Plateau B Chota Nagpur Plateau
C Decean Plateau D Karnataka Plateau

144. Epilepsy Cumilssmsr Lo(hhangs &evorLmih& e

A Dr. J. umur B S. snglrCesiysor

C Dr. V. @ymodmeserer D Dr. gélor sm s
The medicine for epilepsy was found by

A Dr. J. Bhabha B S. Chandrasekaran
C Dr. V. Ramakrishnan D Dr. Asima Chattarjee

145. SLOETL 1960 L8 9|Hs LemLp GlLiiublL b
A hodflwsmew B wpsfl wemew  C JLEmETT Lo6mey D &6VIJITLLIGOT LOGBIEV

The place that receives the highest rainfall in Tamil Nadu
A The Nilgiris B Palanimalai C Anaimalai D Kalrayan Hills

146. @ feir LgTEHT6T HT(H
A Qumr&Gsr B Ferr C @ssmel D &lGr&sin

Ibin Baduda belongs to the country
A Morracco B China C Italy D Greek

147.501DEm g0 ‘oM@ 6Tl sThis6r smsmerLLGL @)L b
A YL@ssTR B N&smeurid C sLear D mrsliullpeurid

‘Mangroove Forest’ in Tamil Nadu are found in
A Muttukadu B Pitchavaram C Cuddalore D Nagapattinam

148.‘wmusefls’ @rdurails s g dlsLrs Lrfleusdle Slenl&8Hme)
A dsmr B spiflsrom C wsHulilfGessn D somisgeuor(h

In India ‘Manganese’ is largely found in State
A Bihar B Orissa C Madyapradesh D Jharkhand
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149. o gl NITGse LTHlsSHn ojmubgiaTar ClEWnmesEaHTeT 676 S6TLD
A glbur B ufemflésmLr C eamssr D sxliyr

The satellite launching station located in Andra Pradesh
A Thumba B Shriharikotta C Hasan D Chandipur

150. ‘grmsioumy G snL’ gjemLohgleTar oTal L LD
A BrslUligeTd B SEpSTaLT C Smeumemi D sLei

The district in which ‘Tranquebar Fort’ is located
A Nagapattinam B Tanjore C Tiruvarur D Cuddalore
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